

ORDER CONFIRMATION

Dulles John Sterling

Your reference number: 1

Leuven, 26 january 2014

Dear John,

Thank you for shopping with us! We have following products reserved for you:

- Business Shirt
- Trousers
- Jacket
- Blouse
- Skirt
- Ladies Shoes
- Belt
- Bag
- Mens Shoes
- Wallet

The total amount of your order is €2380.

Please find enclosed a detailed summary of your order.

We hope you enjoy your purchase!

The APEX Office Print Team





Appendix: Summary of your order with reference number 1

Product	Image	Unit Price in €	Quantity	Extended Price in €
Business Shirt		50	3	150
Trousers		80	3	240
Jacket		150	3	450
Blouse		60	3	180
Skirt		80	3	240
Ladies Shoes		120	2	240
Belt	R	30	2	60
Bag		125	4	500





Product	Image	Unit Price in €	Quantity	Extended Price in €
Mens Shoes		110	2	220
Wallet		50	2	100

2380

(*) This product is currently not in stock, your order may be delayed.



ORDER CONFIRMATION

Hartsfield William Atlanta

Your reference number: 1

Leuven, 26 january 2014

Dear William,

Thank you for shopping with us! We have following products reserved for you:

- Blouse
- Skirt
- Ladies Shoes
- Bag
- Wallet

The total amount of your order is €1640.

- Blouse
- Skirt
- Bag

The total amount of your order is €730.

Please find enclosed a detailed summary of your order.

We hope you enjoy your purchase!

The APEX Office Print Team



Appendix: Summary of your order with reference number 1

Product	Image	Unit Price in €	Quantity	Extended Price in €
Blouse		60	4	240
Skirt		80	4	320
Ladies Shoes		120	4	480
Bag		125	4	500
Wallet		50	2	100

1640

Product	Image	Unit Price in €	Quantity	Extended Price in €
Blouse		60	4	240
Skirt		80	3	240





Product	Image	Unit Price in €	Quantity	Extended Price in €
Bag		125	2	250

730

(*) This product is currently not in stock, your order may be delayed.



ORDER CONFIRMATION

Logan Edward East Boston

Your reference number: 1

Leuven, 26 january 2014

Dear Edward,

Thank you for shopping with us! We have following products reserved for you:

- Jacket
- Ladies Shoes
- Bag
- Mens Shoes

The total amount of your order is €1515.

- Business Shirt
- Trousers
- Blouse
- Skirt
- Belt
- Bag
 Wallet
- Wallet

The total amount of your order is €905.

Please find enclosed a detailed summary of your order.

We hope you enjoy your purchase!

The APEX Office Print Team



Appendix: Summary of your order with reference number 1

Product	Image	Unit Price in €	Quantity	Extended Price in €
Jacket		150	3	450
Ladies Shoes		120	3	360
Bag		125	3	375
Mens Shoes		110	3	330

1515

Product	Image	Unit Price in €	Quantity	Extended Price in €
Business Shirt		50	2	100
Trousers		80	2	160
Blouse		60	2	120



united codes APEX Office Print



Product	Image	Unit Price in €	Quantity	Extended Price in €
Skirt		80	2	160
Belt		30	3	90
Bag		125	1	125
Wallet		50	3	150

905

(*) This product is currently not in stock, your order may be delayed.